

Number 619304 Page 1 of 4

To 10264
PEORIA, CITY OF
PURCHASING DIVISION
ROOM 108, CITY HALL
419 FULTON
PEORIA IL 61602-1217
USA

Attn Email

Phone 309-494-8582

Fax 309-494-8510

**Quote Date 2/1/2018** 

**Expires** 5/2/2018

Terms NET 30 BASED ON APPROVED CREDIT

FOB DESTINATION-FRT INCLUDED

Salesperson ANDRE SANTOS

Email asantos@trafficcontrolcorp.com

Letting Date Book/Call/Item Location

**VARIOUS** 

**Description GPS VEHICLE UNITS AND INTERSECTION UNITS** 

Contract No			
Part Number Description	Unit Price	Qty/UM	Net Price
F63204	3,220.00	4.00 EA	12,880.00
GPS PREEMPTION VEHICLE KIT (HIGH PRIORITY) SERIE	ES 2000: GTT, 76-10	00-1155-0	
F60386	3,150.00	9.00 EA	28,350.00
PHASE SELECTOR, MULTIMODE, OPTICOM 764: GTT, 76	3-1000-1054-0		
F57140	2,875.00	9.00 EA	25,875.00
GPS INTERSECTION RADIO UNIT, OPTICOM 3100: 76-10	00-1189-0		
F71286	492.00	3.00 EA	1,476.00
GPS INSTALLATION CABLE 500ft, OPTICOM 1070: GTT, 7	'8-8125-0421-1		
F67820	335.00	9.00 EA	3,015.00
(OPTIONAL) CARD RACK WITH P1 HARNESS ASSEMBLY 78-8114-5300-6	, OPTICOM 760: GT	Γ,	



Number 619304

Page	2 (	of 4
------	-----	------

		1 490	- 01 1
Part Number Description	Unit Price	Qty/UM	Net Price
GTT Analytics Software	15,450.00	1.00 EA	15,450.00

Software:

30 Analytics software (monthly subscription rate per vehicle, for term of agreement) \$ 120.00 \$ 3,600.00

Miscellaneous items:

51Activity 1: Update firmware, Wi-Fi configuration, add certification/mounting in vehicle (quantity in hours) \$ 150.00 \$ 7,650.00

16 Activity 2: Intersection latitude/longitude integration (quantity in hours) \$ 150.00 \$ 2,400.00

8 Activity 3: Combine Existing GPS intersections with imported latitude/longitude coordinates (quantity in hours) \$ 150.00 \$ 1,200.00

4 Activity 4: Vehicle ID, email address, organizational information setup (quantity in hours) \$ 150.00 \$ 600.00

Proposal notes:

Vehicle activity summary:

1) Update firmware in the 2100s.

2) Program the 2100s with the necessary vehicle IDs and communication settings.

3) Configure cellular modems and add certifications for enabling wireless communications.

4) Mounting the necessary communications equipment in the vehicle, including installing the antennas and running cable.

Intersection activity summary:

1) Download the intersection information for latitude and longitude (location) for Analytics calculations with respect to vehicle movement.

2) Combine the existing 764 location data and ID information with the newly downloaded intersections location data.

Activity 3 assumes GTT can acquire IDs of existing 764 phase selectors from Peoria fire trucks when driving through intersections where Opticom has been deployed previously.

Analytics software pricing is \$10 per month per vehicle, applied to 30 vehicles over a 1 year period



Number 619304

Page 3 of 4

Part Number
Description

Unit Price

Qty/UM

**Net Price** 

**GTT Analytics Software** 

Analytics Software Proposal Notes

Where Global Traffic Technologies' North American variant has been requested, purchaser acknowledges that north American radio equipment is certified to North American standards (e.g., the FCC) and not international standards (e.g., ETSI). Purchaser has specifically requested the North American variant and accepts all responsibility for obtaining the necessary waivers from the appropriate agencies in the country in which the equipment will be operated, before the equipment is installed and/or made operational; and purchaser accepts all associated liability for not doing so.

When integration services are proposed (for transit applications), integration assumes: 1) route and run information is available on the vehicle via J-1708 or RS485, whenever driver updates either the route or run:

2) schedule data is available in standard GTFS format via an IP portal accessible to the Opticom Central Management Software (CMS); 3) Wi-Fi is available in the yard/barn for connectivity to all transit vehicles.

Note: the Model 4010 vehicle computer comes with built-in support for connecting to existing Wi-Fi networks. If any of the preceding is not available, pricing for integration services may be affected.

To the extent this proposal is a "Budgetary Proposal," price estimates are a function of what is known as of the date of the proposal and may change as new information becomes available.

For services, a signed master services agreement (MSA) must accompany the order; for software, a signed software licensing agreement must accompany the order. Terms and conditions for each can be found at: http://www.gtt.com/servicesagreement/ and http://www.gtt.com/software-terms-conditions/ respectively.

All documentation and hardware/software user interfaces are in English only, unless otherwise stated within this proposal.

In instances where GTT is providing Priority Control as a Service (PCaaS), or any ongoing services requiring remote access, GTT assumes the presence of and access to a customer-provided/managed Wi-Fi network

for remote access to vehicles while parked, unless a GTT-provided Wi-Fi and/or cellular data plan have/has been included amongst the listed services.

When included, intersection installation pricing assumes a standard configuration without complications. Not included in this proposal are the following items, which will require additional cost: 1) crushed conduit

or any other issues preventing cable from being installed, 2) lane or road closures, 3) police or other resources needed at the installation area, 4) other third-party costs not known at the time of the proposal.

When included, intersection installation pricing assumes conduits at intersections are accessible, free of debris and in good working order; additionally, pricing assumes new antenna cable can be installed using existing conduits, without removal/replacement of existing conductors.

Proposal assumes the intersection cabinets are in good working order and contain wiring diagrams.

Unless specifically indicated in this proposal, pricing assumes replacements due to weather, accidents, theft, vandalism and the like will be at customer's expense, at the then current list prices for such replacements (materials and labor).

Vehicle installation assumes standard installation and does not include: 1) special mounting brackets, 2) excess wiring, 3) swapping out previously installed (replacement) vehicle hardware.

Pricing does not include applicable sales taxes. If order is to be exempt sales tax, documentation must be provided at time of order.

Additional terms may apply. Review our full Terms & Conditions of Sale at www.trafficcontrolcorp.com.



Number 619304

Page 4 of 4

Part Number
Description

Unit Price

Qty/UM

Net Price

Proposal excludes any activities associated with: 1) traffic control plan, 2) water pollution control plan, 3) changeable message signs/flaggers, 4) permits/bonds/fees, 5) removal/repair/replacement of concrete, asphalt, conduits or wiring. Other applicable general terms and conditions can be found at http://www.gtt.com/sales\_terms/.

**Item Total** 

87,046.00